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Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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GCSE Mathematics IMAOQ
i Formulae: Foundation Tier
{

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

{ fe—a—]

‘ Area of trapezium = %(a + b)h il_|

l [« b |

. . /
Volume of prism = area of cross section x length
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all stages in your working.

1 Here is a shaded shape on a centimetre grid.

(a) Find the area of the shaded shape.

(b) Find the perimeter of the shaded shape.

— muirror line

(1)

(Total for Question 1 is 3 marks)
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| 2 The bar chart shows the number of hours of sunshine each day last week in Skegness

and in Blackpool.

Hours of sunshine

8
7
6 |
| i
5 7 | ;//
Number 4 // ‘ ‘ | //
of hours d % ‘ 7/// % %
P 7 AT ! 4
Y a1ta 1l 121 7| 7
i % 7 % 7R 7/ 7%
Mon Tues Wed Thurs Fri Sat Sun
| Skegness
y/é Blackpool
(a) How many hours of sunshine did Skegness have on Wednesday? 5
...................................................... hours
(1)

(b) Blackpool had 6 hours of sunshine one day.

Which day?

(c¢) In total, Skegness had more hours of sunshine than Blackpool last week.

How many hours more?

S4- 28

............ hours

(2)

(Total for Question 2 is 4 marks)
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.7 , ‘
(a) Write B as a decimal. ‘!
|

(b) Write 0.45 as a percentage.

(c) Write 30% as a fraction. «[
Give your fraction in its simplest form.

(d) Write the number 2.738 correct to 2 decimal places.

(Total for Question 3 is 5 marks)
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4 (a) On the grid below, draw a line that is perpendicular to the line 4B.

(b) In the space below, draw accurately a circle of radius 4 cm.
Use the point C as the centre of your circle.

> meex2 ok a

(\‘6\(\% m@&

(1)

(1)
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(c) On the grid below, draw an isosceles triangle.

M)
(d) On the grid below, draw a quadrilateral with exactly 2 right angles.
(1)

(Total for Question 4 is 4 marks)
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5 Here is some information about flower bulbs.

{
|
|
|
|
|
|

|
1
f

i Flower bulb Planting season Flowering season

alium autumn summer

‘E ‘ amaryllis spring autumn

daffodil autumn spring

| nerine autumn autumn

| sternbergia spring autumn

1 | tulip : winter spring

‘1

| . . . "

3 (a) What is the planting season for tulip bulbs? \/\)(y\__{'@ r. """"""""""""
(1)
(b) Sternbergia has the same planting season as one other flower bulb.

Which flower bulb?

There 1s one of each of the six flower bulbs in a bag.

Carol takes at random a bulb from the bag.

(c) (1) On the probability scale below, mark with a cross (x) the probability that the bulb
has a flowering season in winter.

, % |
| 0 l 1
2

(i1) On the probability scale below, mark with a cross (x) the probability that the bulb
has a flowering season in autumn.

0

o —

(2)

(Total for Question 5 is 4 marks)
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Stan’s Driving School
First two lessons £12.75 each lesson

All other lessons  £20.00 each lesson

Alex has 5 lessons with Stan’s Driving School.

(a) Work out the total cost.

||/22‘:77§J‘ Ix 268= 60

/ |
e ok -0
2556 |
% 5.50 £ 85‘5(5 .......

Leah has some lessons with Stan’s Driving School. ‘
The total cost of the lessons is £305.50 |

(b) Work out how many lessons Leah has. k

302‘2: Lf;% Z/,- 2 lessons ‘

|4 lessensS

225 ~20= |t

B —

(Total for Question 6 is 5 marks)
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| 7 Here is a map of Great Britain.

The map shows the temperatures in some cities at midnight on 20th January.

Newcastle —6 °C

Bangor 2°C
Norwich =3°C

Truro 3 °C Brighton -2 °C

(a) Which city had the lowest temperature at midnight?

Neux(%ij(e

In Brighton, the temperature rose by 5°C between midnight on 20th January and midday
on 21st January.

(b) What was the temperature in Brighton at midday on 21st January? fg
...................................................... °C
(1)
At midnight on 20th January, the temperature in Nottingham was halfway between
the temperature in Truro and the temperature in Edinburgh.
(c) What was the temperature in Nottingham?
...................... -—j“c

(Total for Question 7 is 4 marks)
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O 1 2 3 4 5 6 x gzj
|
|
(a) Write down the coordinates of point C. |
(5 ........... § ......... ) \
() !
!
(b) Write down the coordinates of the midpoint of 4B. ‘»i
L 4 |
M ;E
|
(c) On the grid, mark with a cross (x) the point D so that ABCD is a square. F
Label this point D. 4‘
(1)
(Total for Question 8 is 3 marks) {
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Amy is making a shelf unit for her DVDs.
She needs

3 pieces of wood of length 32 cm
and 2 pieces of wood of length 45 cm.

Amy has a piece of wood of length 2 metres.
She cuts the 5 pieces of wood she needs from the 2 metre length of wood.

(a) What length of wood does Amy have left from the 2 metre length?
2x22=46 2O —
2%x45=_40 + 186

\ € G | e

R 1= 2 .
(3)

The diagram shows the shelf unit.

Diagram NOT
accurately drawn

o <9 |
c <o |

450 mm

D
v
D

> i
14 mm

o< |
o<9 |

<+—320 mm—»

Amy will put DVDs on the 2 shelves, as shown in the diagram.
Each DVD has a width of 14 mm.
(b) What is the greatest number of DVDs Amy can put on the 2 shelves?
Tag= = 2pilg. . .
22 DVEs per

(Total for Question 9 is 6 marks)
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10 Here is the number of goals scored by a football team in each of its first 10 games.

3 1 4 2 0 1 1 1 3 2

(a) Write down the mode.

. o
COMMON o

(b) Work out the mean number of goals for the first 10 games.

\€

—

1O

In the 11th game the team scored 4 goals.
In the 12th game the team scored 2 goals.

*(c) Will the mean number of goals for the 12 games be greater than or less than |
the mean number of goals for the first 10 games? f
You must explain your answer.

IR + 4 +2 24

[ —"—‘-————::2
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11 Here are parts of two train timetables.

Melton Mowbray to Peterborough

1 Melton Mowbray | 0631 | 0653 | 0734 | 0834

Q Oakham 0643 | 0705 | 0745 | 0845

g, Stamford 0657 | 0719 | 0801 | 0901

:‘ Peterborough 0710 | 0733 | 0816 | 0916

| Peterborough to York

| Peterborough | 0705 | 0745 | 0758 | 0815 | 0915
| Newark 0737 | __ | 0830 | 0843 | 0943
§ Doncaster 0809 | __ | 0900 | 0909 | 1009
A York 0831 | 0850 | 0927 | 0932 | 1032
‘ James lives in Stamford.

He is going to a meeting in York.

James will travel by train from Stamford to Peterborough.
He will then travel by train from Peterborough to York.

It will take James 30 minutes to walk from the station in York to his meeting.
i His meeting starts at 10 00
L

Plan a schedule for his journey to York. -
- 3O MWD

gbw\@m'l 2 derh O(GCS\N Holie. Meating
| 7\8 7R 752 Fiz7 470 Teges
| N .~

Schedule Time
Train leaves Stamford 7'- \ q

; Train arrives in Peterborough 7: 4 E3
T Train leaves Peterborough 7-5 3
1 Train arrives in York q . 2_7
‘t James arrives at meeting Ci 1857

EI (Total for Question 11 is 3 marks)
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12 (a) Solve x-5=17

+5 +5

x=.. 23

(b) Solve ?: 6
x2 x2
=13

(c) Solve Sy+7=24
- =7
5\\j: \7
=5 =5
S AN N2

5 s

(Total for Question 12 is 4 marks)
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113

Diagram NOT
accurately drawn

5.5cm

35°
A B

7cm

Make an accurate drawing of this triangle.
The line AB has been drawn for you.

(Total for Question 13 is 2 marks)
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14 Here is a sequence of patterns made with counters. :
o e ® ©o o o i\

CHCNC ONCECNCNC) CHCNCORCRCONCNO) |

o ® @ © O O %

pattern number 1 pattern number 2 pattern number 3 1[

(a) In the space below, draw pattern number 4 ]#
|

i’f

o ) e o |

o e o & 6 6 e o i’

o () o O ‘f‘

i

|

(1) ‘

(b) Complete the table. ,‘
Pattern number 1 2 3 4 5 r,

Number of counters 5 9 13 \7 | 2\ \[

(1) ‘

(c) Find an expression, in terms of n, for the number of counters in pattern number 7.

Habeeb has 50 counters.
He wants to use as many of his counters as possible to make a pattern in the sequence. |

(d) What is the number of the pattern he can make using the greatest number of his counters?

S == e B 12 e i |

R O A RO O O 0 O A .
Turn over »
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*15

Diagram NOT
accurately drawn

ABC is a straight line.
Angle BCD = 38°
The reflex angle BDC = 250°

Work out the size of the angle marked x.
Give reasons for your answer.

Boe < BLa=3258 7 (10° &S @Jx\g\e,s
C@ta@e(\/\% g e | SBEY.
DRC = RO - (hwe +38\ |
= \ RO - \u=3832° as an\g%\i—s “WN &
Jrv\‘axxﬁ\e, add up = 8O-

~ = |80 =& P |42° ag an \le< &N\ a
S'HO\,\BM [(RVNSE add up Yo \RC™.
S = ug°

(Total for Question 15 is 4 marks)
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16 Work out the value of 14.44 x (7.3 —2.45)*

Write down all the figures on your calculator display.

24 .3255

(Total for Question 16 is 2 marks)

17 100 students each chose one activity.
Each student chose bowling or karting or ice skating.

The two-way table shows some information about the activities the students chose.

Bowling Karting | Ice skating Total
Boys | L4 13 24 47
Girls |z 7 34 53
Total 26 20 54 100

(a) Complete the two-way table.

One of the boys is chosen at random.
‘—g_
(b) What is the probability that this boy chose karting?

(Total for Question 17 is 5 marks) |
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18 Here is a rectangle.

4 cm

10 cm

Diagram NOT
accurately drawn

The 12-sided shape below is made from 4 of these rectangles.

N

|©

1O

(W

Work out the perimeter of the shape.

\©

(Total for Question 18 is 3 marks)
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19 There are 240 counters in a bag.
The counters are green or yellow or blue.

3
— of the counters are green.

1
Fi of the counters are yellow.

Work out the number of blue counters in the bag.

S wpuo = 4 \\
5 |

|
— % 220 = L8
. £

240 - (60 + 144)
246 ={2e8) = BL

........................ 6

(Total for Question 19 is 4 marks)
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20 Here are the ingredients needed to make 10 pancakes.

Pancakes
Ingredients to make 10 pancakes

300 m/ of milk
120 g of flour

2 eggs

Matthew makes 30 pancakes.

(a) Work out how much flour he uses.
( \Gwc_ﬂm‘s 126 —e\cw >x§
& > 3@) P@_y\ C_OJJUL'S géﬁ Q 3

e 260
(2)
Tara makes some pancakes.
She uses 750 m!/ of milk.
(b) Work out how many pancakes she makes.
—56 2 .5x \0=25

........... b

(2)

(Total for Question 20 is 4 marks)
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It shows the length and the width of each pine cone.

8 1
7
Frrh
P X ]

P S m 387
Width T ] /zf_"j;f:',‘:;w, B
(cm) P

5 S aa

4

\ CoTe
3 5 6 7 8 9 10
Length (cm)

(a) Describe the relationship between the length and the width of a pine cone.

Another pine cone from this tree has a length of 8.4 cm.

(b) Estimate the width of this pine cone.

3

21 The scatter graph shows some information about ten pine cones from the same tree.

3 marks)

Ac&gk Qzl to

Draws a lina e
8} best fit! i
(Total fy estion 21 is

-

J
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| 22 Margaret is on holiday in France.

She buys an English newspaper.
The cost of the newspaper is 5 euros.
In England, the cost of the same newspaper is £2.50

The exchange rate is £]1 = 1.16 euros.

Work out the difference between the cost of the newspaper in France and the cost
of the newspaper in England.

f2.50 kWb 22.9 <€
5 - Z-egeles

| 23 (a) Factorise 3x+6

(b) Expand and simplify ~ 5(y —2) + 2 —3)
O o

| 5;‘3:_‘_6_ Reas 6

| (L

f ‘7\‘-3

N [ T S N 49 P V...

2)

(Total for Question 23 is 3 marks)
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*24 The table gives some information about student attendance at a school on Friday.

Number of students
Year Present Absent Total
Year 7 192 16 208
Year 8 219 22 241
Year 9 234 28 262
Year 10 233 28 261
Year 11 214 N 24 238
047 12 e

The school has a target of 94% of students being present each day.

Did the school meet its target on Friday?

\@0‘ x 6o = 90.2479 - -
\Z\C g | s

Ne Hi aftendlonze {f‘{gd'

LoD vx@‘k V\ML*

(Total for Question 24 is 3 marks)
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25 On the grid, draw the graph of y = 2x — 3 for values of x from -2 to 3

@Cre.&i'z o telble ﬂ- VIS UE L ¢

e W he \ 0/’; l \7_\3
%7 {L—S'\-@\ E

o T P WY “y

(Total for Question 25 is 4 marks)
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*26 Saphia is organising a conference.

People at the conference will sit at circular tables.

,,,,,,,,,

e
N o, \““

Diagram NOT
‘ accurately drawn
o]

Each table has a diameter of 140 cm.
Each person needs 60 cm around the circumference of the table.

There are 12 of these tables in the conference room.
A total of 90 people will be at the conference.

Are there enough tables in the conference room?

Cfrcwweo%'/\& = TV A

N x\WO= 424 8224715
(/>—‘.-é>©’—= o

/ pecple pef
Txl2= R4 Falle

& Pecpte fs 2¢ arsund a table NEL

o |

(Total for Question 26 is 4 marks)

TOTAL FOR PAPER IS 100 MARKS
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